Lecnote2. Secl.6,1.8. Sec 18, Springl8, MTH132

<rh &/UJW it g %g, Ho Limit dawos

K@Oug points 3 % () (Lw){,bmqt ) ;07 g;z/uam( gudiratian.
XX QD Linga @ wral ; 20f05 Z%cfon?, Mmﬁm‘
® %me&e/ Thestem.
D Lt Laws
e Sim / Dv{ﬁ%#m: )/(,:?&[ ot gno] %gj@] i[ {ZQ& g@
¢ nstant muleple ii?a,[ Cfid] = L o] In C =
Dbt s [0 gfx‘ﬂ = ([ o] [éi‘g&si@

r Buothor: \ [ g{x)] %_wJQ’Q RO

\@v\.

o/t M[ﬁﬂ [ ﬁ@} &Lf%awymmﬁ@.
 Gnstist [ Rdgnarials i € = c

X2l ima,x 0“) i‘fj\&x OL;, )éom&'}cmo\,)
/tlf} J— ,\/Et, [fM A t{\ /

= S
(055 o X ﬂ\'y)&b%“a& .

? o2 74@” /m 3 J0=3 O"’“}Wﬁ #lo Mﬁm@ .
b { - 2 kgl @ﬂ

mf S Iun fh +3(©] + l(fl’x)) / jm]
— [m X
““gwmmw*QQMlM@

= T - /+3 + 2 (-3

= 5-4+23 Z{:H*Q«Ek p
Pk Al ds hws dd b ephed 0 mesided, (it

1


Shiwen


Shiwen


Shiwen


Shiwen


Shiwen


Shiwen


Shiwen



gjl { Direct: p@j /h)
X+l orl ‘2}\,1, 2= 2
Lom 0+ 7T Zim her TR 2,) /”’“ J? U 43 =[0=0

kD I t%xfuamtyém ff@ Zf both /»j&\ Mﬁﬂma then oo mst ence] ant

the “aaro g’ fxvmo@g{@ by de. iy octndp tehnfue.
eﬁgh G)W /;m X X 5 &Wé%m?@nwz WQCQ;»:L 2“’“26“__"“ Sk

wzl O’
x>2 X “ZX s meani ‘C‘]J@

e P2 | RV 43D bt he X3 el 243 ﬂ_[i
=0 TR X 0=
o= o= fD Bgin )

B> f fomsy ol B = by wop 2 4=

4-x3 .
. - D 2= - e = T W B o

Sl TO I - Kgxﬂwlz::' :f(—“! T AR T 4D e C T sC

X2 X-2 ={3) = -C
5 Wi XL S .
Se(‘,ﬂ/g> GW‘/’D X“ _Z’T x* (X+3) Hﬁt/ X = (“3> = +? .

( -5 X+3z(3)+ % = ¢
WB = 09 > while X+3 wum,mim S X =D ,*37“

(Wrmc;{e,g -3 ﬁmg{bﬁ
7 : 4 CX” +
;?(Fegé- —~ Vafm/af C does X//:; Y5, st ad. < 7(},\%&?

Seluction B Netica -]f We_ qu'(cf th X=2 , M hale wi%i%_ ,WZMQ, f?{SL ﬁmmfr\a{w 'S O

So we ?’LQ,Q«C@, ‘5\1 VTN (ol C‘JSO é@ Zro e, S Z{A(/_{_&IL:;O :}/C:_l )
Acvly, if =, i (X241 a0

X:Q_ X=2. w2 X Qf@ a /6 '"/ﬂd“A)/ﬁ*(S)

}iﬁjz “(zji)% PR EPANEE = 2)630)

Hacfre | C= ~ | s

—



Lecnote2. Secl.6,1.8. Sec 18, Springl8, MTH132

® Szmeza 771@?9’7: Sf/wfx ﬁx)s GK{/x) S/)[x) cmo( &%ﬁﬁﬁ\@:}_
Thor fin g(><>: L

: X0
4/ z]ﬂ G Cos(xDsf/xﬁé/_—Xl/ pnd. b 965,

lin i = 12X = | 2 0= |

X0

—

X X <0

D dbsobutz s, Functon 74X>:/></___./ X %20

5/w/t: Y=lx-c| + e anstvt C.
:[ x=C o X>C ,
98 Find the it 7/ [ 20X
><-9/"‘ /X."‘//
X—a]* means X "ﬁ)wm | from tho RICHT + x> |
Ix~) | =X~
N /'m 2X - (X =D Z« aX- (
| = im

X | T IX—-/, —’><—->/'/‘ % = A)l?'f 1>< = 2,/ :1




Lecnote2. Secl.6,1.8. Sec 18, Springl8, MTH132

SI8 AR, Grtiowdy .
Z{y Z)O:‘m*/i: ® Dﬁﬂmil‘ﬁa’) wd the &)"\/}/‘
> (ﬁnﬁnu}u% o»f Piwg /Fwﬁm
® Tormeliots Vidue Theotem |
] por) - D IS Tt = T -
Defiitns oo i arincns st =6 of - fnffd=flo>
In te M;\ T meahS g:ﬂ»@ (the wye) does nat falje ad‘uw\F//b/e, & X=0
It hot o :)\wv\?//@/e, o i dsontiths of xza

gl (Bromphs of (/mm?) The ey fuactins de dotiths ot =

/)[\iﬁ> kf \T B \Z

ok ey e x\?[ <=
undefingd b X= Jtmfrxt%:l
umf({dbaax_z \ WV% o st 3o
Veftcad s
o Domal af ontnity Fancton aéfmo( éy ﬂr”m[og e Grt\npous a7

9 Rens: yex oy gajR y=oL J=sihx

DO.C. ¢ (30,40 (40,69 [0,50D G0.0006> (30, 55

PO= **?;*“)3 i) Domain: SA] 2 xt20 | X3%0
D-GC.o [, 3D, 49

4



e o EC%@ athwas, ot =K of rt 7
-5 if x=$ "‘4‘{'\7
Boariz: 46> % b s gt X =§ \JC {/\m QL\O_.thg
e veed 40 s 3@0 jﬁmﬂ

3 Lecnote2. Secl.6,1.8. Sec 18, Springl8, MTH132
0.33- let g@@:{x*m ﬁ)jﬁ X€8

Shution ><-> (6]00 i YC2X = S+ZS 128

x>
SX"‘X ) “‘X> W 3
Sy = - he “zeros
b 0=y B =y 2T ol e

=ln =X = 20 .

Y2 Bt
lm (gcxsi (,&m 800 dwﬂ@/ de limit &vz 8)(‘@ DL
Qo> & NoT oWt ot X= 5
gb Todeubo d kol o=l T2 < ki
gx,k f w2 Pl X7

A3k oarak sk
X——>2 %5( \é}ﬂ;_ X-3 = 2-3 7 - /%k*(‘)‘
b poo=fin 8x-k = -k

W node de bt ot X=2 X2 | ie. 3!@*:4&%,

S"("/"’)%”k’ Ak=20
= “(:g




Lecnote2. Secl.6,1.8. Sec 18, Springl8, MTH132

9B @ Intrmsdits Ulne Thestem .
(m%)g in-betwezn D
AP I f is wrtss 0 (b, fitAb> . and IV s etwan {0
ond {(/;), Hon Hote 1S o C (—(a,b ot Satstrer f(c):/\/‘

. apf/vz IUT maens

b

b
o Rewrnite Z(/7 2e the 74;//0:1/(/50 (ﬁo/@y :
Ln v Se/{/e 74x>:/V, AN em% L2 /):CA omé Sb(Aﬁt/ﬂ‘/ 7%3,7%), ohg /47%
N\o& ohe SMaM/ Jw’\ /V 7%% Q{WQ s« sa[w)%\ (,,‘,\(A,A§ 4o 14@:/\/

eal_ b/o«ez\b e rtmart ot Valnes ﬁ‘)‘/’”"\m

?c o ! 2 3 Va Sketch do f%fA o% (y:.]@@
fo 1 ) -} o 3 and ]JJ’U{ e s st
H>= 2,

g foe T & o CeAD | s de f>=2

e((?z, On which ] mse e b o lighn 2o ><3—/§L: 35-3x\
bnsidor >z Xl —(36-358)
T3> = 31 ~(36-33%)= 2/~ —(zé-t]>: G5 +4-<0
= Pl ~(36 34 = 26 >0
Taefre , doe & o CE(34) sh dot f©)70 @ c‘-/jtzz&a-c

6





